8 o 7 6 v 5 ' ‘ 4 é— 2 NEXT ASS’Y: FINAL ASS”Y:

PARTS LIST
P37 T DRAWING NO. [DESCRIPTION oTY
| |J3.22.31 LLLW SAMPLING STATION WELDMENT |
2 |J3.22.32 LLLW SAMPLER MOUNTING PLATE ;
3 WASHER, PLAIN, TYPE B, NARROW, 3/8, AISI 300 SERIES SST 23
J SCREW, HEX, 3/8-16 UNC X [-1/4 LG., ASTM F593 GROUP ICW /
5 NUT, HEX, 3/8-16 UNC, ASTM F594-304 CW 3| H
6 SCREW, HEX, 3/8-16 UNC X | LG., ASTM F593 GROUP ICW 6
7 BALL VALVE, 1/2", BUTTWELD ENDS, W/SPRING RETURN TO CLOSE HANDLE| |
8 BALL VALVE, 1/4", BUTTWELD ENDS 2
g ELBOW, 90DEG, LR, I/2", BUTTWELD 3
(2) - NITROGEN PURGE TUBE - 4 —f e (2) % | HOLE FOR COMPRESSED 10 ELBOW, 90DEG, LR, 1/47, BUTTWELD 8
////ﬁ—— AIR PIPING TO PMP-8408 I FIXED VOLUME SAMPLING SYSTEM, PER DATA SHEET SAMP-8409 |
) , X 12 GLOBE VALVE, 1/2", BUTTWELD ENDS |
\ = a I 3 LLLW SAMPLE PUMP, PER DATA SHEET PMP-8408 |
| /// 1 4 MALE CONNECTOR, (/2 TUBE X I/4 MNPT, SWAGELOK P/N: $S-810-1-4 |
5 PIPE, 1/2" 8
(6) (6) 6 PIPE, 1/4" 3
| 1-3/8 17 REDUCER, [/2" TO 1/4", BUTTWELD 2
0-13/16) ‘¢{( g 0-13/16) E SOUARE HEAD PLUG, 3/8 NPT, SST |
O, 9 TEE, 1/2", BUTTWELD 2
/”’_~\\\\ 20 TEMPERED GLASS HOOD, W/ ADAPTER PANEL (SEE NOTE 3) |
2] TUBE, 1/2" OD X 035 WALL, ASTM A269-304L SST |
\\\\_ 22 Y STRAINER, [/4", BUTTWELD, SST, HAYWARD MODEL 85Y OR EQUAL 1 G
N '
SANPLE OUT””“///// \\\\\\\\ \\\\\“——SAMPLE [
\e" SCE CONNECTION 0 -~ (10-3/16) SAMPLE IN
o |
(3% 2)
L N/ A/ /4 /A &/ /. /4 L s
/ | 1 !
/ —\; i
L ) : YA
3

‘ﬂ’ F"“‘*’A | <:>//// o H (23) E—
) ) N1TROGEN
H I_‘ \ — ] (3) PURGE TUBE
i

[
L C)\N lﬁ
=7

L L L
7

(36-5/16)

IR
N
AN

C 1

N\
)

TT N,
o,
©

o((
\
/

/
—
5
@
R

A

—

P
[
/
O
>
T/
)]
= NN
4 g % %\®\a%
(=
T
O;m:l
J
—
— )

SECTION _A-A

8) NOTES:

/©

P

/

. P
|
T

IPING AND VALVES ARE SUBJECT TO THE REQUIREMENTS SET FORTH
N SECTION 15128, AND THE ADDITIONAL REQUIREMENTS NOTED ON
HIS DRAWING.

2. SEE DRAWING J2.10.35, LLLW P&ID FOR ADDITIONAL DETAILS.

GLASS UNIVERSAL HOOD (CAT. NO. 2900-14) FROM TERRA UNIVERSAL

i 3. THE TEMPERED GLASS HOOD IS A MODIFIED SMALL SINGLE TEMPERED

O O WITH THE FOLLOWING DIMENSIONS: Azl6, Bz24, C=8.5, Dz33,
E=36, F=30, G=36 AND H=8.5. THE ADAPTER PANEL IS A MODIFIED 3
‘ FLANGE ADAPTER PANEL (CAT. NO. 1531-18) FROM TERRA UNIVERSAL '
WITH THE FOLLOWING MODIFICATIONS: LOCATE 6" DUCT 4" IN FROM s
l ONE EDGE AND 7-5/8" IN FROM OTHER EDGE. THE HOOD SHALL BE '
A FURNISHED AND INSTALLED WITH A TERRA UNIVERSAL FLUORESCENT ™
e
LIGHT FIXTURE (CAT. NO. 1681-05) AND A TERRA UNIVERSAL POWER
STRIP (CAT. NO. 1681-80). : SCALE: 1/4 B
~ (37) > 4 IT IS LEFT UP TO THE FABRICATORS DISCRETION ON WHERE TO LOCATE
g¥A?SEEgg g$gét;TATE PIPING FABRICATION. UNIONS SHALL BE 108030700-J8E-8700-A253
o i e e e e e T e e e S B e e R e i s
Knight/Jacobs Joint Vent
5. IT IS LEFT UP TO THE FABRICATORS DISCRETION ON WHERE TO LOCATE 7'5"9390%33 Road, M5 8253 EEE MEBRICK
PIPE SUPPORTS. PIPE SUPPORTS SHALL BE STAINLESS STEEL. Ock Ridge, TN 37830 i - ——
865-241-9433 ?
fax865-241-3400
RPE SN (), [ 4 Dy T~ o
DRW pﬁ/@ \g fﬁ/z/o Oak Ridge National Loboratoery, managed by UT-Battelle, LLC, for
\\\\\\\\\\X'igllu,,,” . 23 2700 UIT-8SAT TELLE  the U.S. dept. of Energy under contract DE-AC05-000R22725
S pUAROY, UK TGl 2
. DEPT PROJECT NAME:
/N 1/ /5y SPALLATION NEUTRON SOURCE
MADE AS 10 THE ACCUBACY. COMPLETENESS OR DSEFULNESS OF THE PI R a oL el TARGET BUITLD ING
INFORMATION OR STATEMENTS CONTAINED IN THESE DRAWINGS, OR THIS DRAWING PRODUCED L L LW SAMP L l NG S TAT I ON
THAT THE USE OR DISCLOSURE OF ANY INFORMATION, APPARATUS, ON PRO-ENGI NEER REQ :
METHOD OR PROCESS DISCLOSED IN THESE DRAWINGS MAY NOT AS S E MB l_ Y A
INFRINGE PRIVATE RIGHTS OF OTHERS. NO LIABILITY IS ASSUMED .
TH RESPECT TO THE USE OF, OR FOR DAMAGES RESULTING FROM ; ;
"’TI:IEHUSESOFE', AN(\? I:FOgMiT?ON, APPARATUS, METHODUgngROCESS TH l S DOCUMENT CONTROLLED BY - - - ] d f } N N :I>) 38 4X9 5XO PLgNT 887“2)60 .FL SlH‘ OIF TYGPE CLGSS ‘
R . DR FOR S - . TBO 873 2 . r ) -
?':'?g;gi??O'ZNT(T)HS%DERA:I;?GSOT ?oAgéNggEgAggRAg%égBLE ’ CHANGE CONTROL SYSTEM_S_N_S_ _3~N—G— _G_OOI Rgv cuance | CHANGE, | GHANSE e CONSTRUCT*EESCR*loprZ;GO/:l Zzi Zzz DEPT | DATE /JP% /D///\jT/E W:f }Iz{f\ZT/g) REQ | DATE u%{: (lé{h/gr RPE ;:E NO mD/AGT/Em ST cv EC EE EM IE M;K PD SE AR Rev. O DATE/O/H/@? UTW]‘% o N//L/()) 3 Se | 8% W83 N
PURPOSES, AND ARE TO BE RETURNED UPON REQUEST OF THE - - TYPE | SONTEM | Numoen. ' : . /
FORWARD ING CONTRACTOR. ENGINEERING PROCEDURE ~Mo LNG-G REVISION OR ISSUE PURPOSE REVISION APPROVALS . ' SQUAD CHECK DRANING APPROVALST o o NC NA IN 1.8.3.7 J3 . 2 2 . 30 0




